
Visit www.colemanpublication.com for more 

Multiple Subject Content For Upper Primary 

 

1. Which of the following comes after the highest grammatical unit on the Rank Scale? 

•  clause 

•  morpheme 

•  sentence 

•  word 

2. Readers usually use different reading techniques to get information from a text. Which of the 

following is untrue about scanning and skimming? 

•  Both are for pleasure and understanding. 

•  Scanning aims at specific facts. 

•  Skimming targets general overview. 

•  They involve rapid eye movement. 

3. Ms. Duncan is an educationist who places a considerably good value on primary education. To 

her, teaching writing is important and therefore advises that teachers should be concerned about 

developing learners’ skills to organize words to produce an effect. Which writing skill component is 

the educationist entreating teachers to pay attention to? 

•  Compositional skill 

•  Domain knowledge 

•  Grammatical skill 

•  Literary skill 

4. Enoch Mensah, a fifth-grade learner, struggles to connect subjects and verbs in the correct order. 

For almost a week now, he still uses ‘he have’ and ‘she have’. Which subject-verb agreement rule is 

Enoch not getting right? 

•  Plural subject, plural verb 

•  Plural subject, singular verb 

•  Singular subject, plural verb 

•  Singular subject, singular verb 

. The correct answer is: Singular subject, singular verb 

5. “By the end of the lesson, a learner will be able to use commas and full stops in given 

sentences.” This statement can be described as a/an … 

•  content standard 
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•  exemplar 

•  performance indicator 

•  performance standard 

. The correct answer is: performance indicator 

6. Auntie Esinam has always been in favour of speaking as the most important of all the four 

language skills. Consequently, she recommends that teachers whose aim is to improve learners’ 

fluency, eloquence and speech accuracy can find any of these strategies helpful except … 

•  Dialogue 

•  Modelling 

•  Role play 

•  Story telling 

. The correct answer is: Modelling 

7. A newly-posted class teacher is worried that his learners keep pausing when reading a passage. 

Recently, he again observed that his class find it difficult to understand the words they read. What 

seems to be the reading problems of the class? 

•  Lack of fluency and vocabulary 

•  Lack of phonological awareness 

•  Lack of speed and phonic skills 

•  Lack of word decoding and phonic skills 

8. At your school’s third PTA meeting, a section of parents pleaded with the teachers to 

reintroduce craft making in the school. Which core competence is the focus of these concerned 

parents? 

•  Communication and collaboration 

•  Creativity and innovation 

•  Critical thinking and Problem-solving 

•  Cultural identity and global citizenship 

. The correct answer is: Creativity and innovation 

9. The market woman, as well as the other shop owners, still…… the area. Which of the following 

options best completes the statement? 

•  have occupied 

•  occupies 

•  occupy 

•  occupying 
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The correct answer is: occupies 

10. When teaching writing to primary school learners, the very writing skill components that 

should be of interest to you as a language and literacy teacher should include all the following 

except……………. 

•  compositional skill 

•  domain knowledge 

•  grammatical skill 

•  literary skill 

. The correct answer is: literary skill 

11. Mrs. Jackson is an expert in children’s literature. She always reads short novels to learners in 

every school she visits. Mostly, she prefers that they will repeat after her the words, phrases and 

sentences exactly as she does. Which reading theory seems to inform Mrs. Jackson’s reading 

approach? 

•  The cognitive view (top-down processing) 

•  The schema theory 

•  The socio-cultural view 

•  The traditional bottom-up view 

The correct answer is: The traditional bottom-up view 

12. You realized that the Basic 3 class you took over from Ms. Oforiwaa early this year do not really 

talk much in class even after you tried several possible speaking strategies on them. Which of the 

following conditions is likely to be the cause of this problem? 

•  Learners’ maturation 

•  Mode and type of text 

•  Scribbling tools 

•  Whole body coordination 

13. You told a story about how Ghana gained independence to Basic 5 learners last week. Dadzie, 

the class prefect, was moved by the story that he wanted to know when the whole event took 

place. Which literary element seems to be of interest to Dadzie? 

•  Character 

•  Plot 

•  Setting 

•  Theme 

The correct answer is: Setting 
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14. Amina and Odurowaa decided to treat themselves to a fancy dinner. The underlined word is an 

example of a/an……………………….. 

•  intensive pronoun 

•  possessive pronoun 

•  reflexive pronoun 

•  relative pronoun 

The correct answer is: reflexive pronoun 

15. Madam Yayrah is an auxiliary teacher in Basic 2 at Konadu Yiadom M/A Primary School. Her 

daily classroom monitoring has revealed quite a lot of literacy issues among the learners she 

handles. Two weeks ago, she observed that almost half the class had spelling and punctuation 

problems. In your view, these literacy problems are signs of …… difficulties. 

•  listening 

•  reading 

•  speaking 

•  writing 

The correct answer is: writing 

16. A class teacher for Basic 1 plans to help build learners’ reading competences through reading 

and comprehension lessons. He presents different classroom activities and reading strategies 

almost throughout his entire lessons. As a language and literacy instructor, you expect the teacher 

to do all the following before teaching reading and comprehension except… 

•  ask learners to read silently. 

•  discuss the topic. 

•  preview vocabulary. 

•  talk to learners about the text. 

17. Ishaq still does not understand why his teacher keeps describing something as ‘bitter sweet’. 

However, Ishaq’s teacher uses examples to explain to him that two opposing words can still 

perform the same magic. Which literary device adequately reflects the teacher’s explanation? 

•  Onomatopoeia 

•  Oxymoron 

•  Personification 

•  Symbolism 

The correct answer is: Oxymoron 

18. Mr. Dwamena, the new English teacher for Amantia Primary 6, asked his learners to narrate the 

genesis of the sudden water crisis in the community and how the situation can be curbed. Which 

core competence is the teacher hoping to accomplish through this classroom practice? 

http://www.colemanpublication.com/


Visit www.colemanpublication.com for more 

•  Creativity and innovation 

•  Critical thinking and problem solving 

•  Cultural identity and global citizenship 

•  Digital literacy 

The correct answer is: Critical thinking and problem solving 

19. The following words have diphthongs in them except…… 

•  bait. 

•  breed. 

•  find. 

•  found. 

The correct answer is: breed. 

20. Language scholars believe that certain attitudes and skills are essential for young children as 

they get ushered into language learning in today’s classrooms. Knowing this as an English 

Language teacher for Upper Primary, which among these skills or attitudes will you consider less 

important to learners? 

•  Arithmetic 

•  Muscle movement 

•  Tolerance 

•  Vocabulary 

21. Partitioning, as an action for division algorithm, is also referred to as …. 

•  Grouping 

•  Inverse of multiplication 

•  Repeated subtraction 

•  Sharing 

. The correct answer is: Sharing 

22. Which of the following is/are true about the median? 

•  The median value is fixed by its position. 

•  The median value is not reflected by the individual value. 

•  The absolute distance between the median and the rest of the values is less than the 

distance from any other point. 

•  Every array has a single median. 

The correct answer is: I, II, III and IV 
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23. Which of the following statements is correct? 

•  Content standards are groups of non-related indicators from different standards. 

•  Indicators are learning outcomes that define what learners should know and be able to do. 

•  Strands are topics for each area that have been arranged from the basic to the abstract. 

•  Sub-strands are larger groups of related content standards or mathematics topics. 

. The correct answer is: Indicators are learning outcomes that define what learners should know 

and be able to do. 

24. In a geometry class, which of the following would you guide learners to identify as a pyramid? 

•  Circle 

•  Cuboid 

•  Rectangle 

•  Tetrahedron 

The correct answer is: Tetrahedron 

25. In a mathematics curriculum class, the following distinctions were made between objective-

based and standards–based curriculum. Which of the following distinctions is/are true? 

•  Objective-based curriculum focuses on what learners should know and little about what 

they should be able to do whereas in the standard-based curriculum, emphasis is on what 

the learners should be able to do. 

•  Objective-based curriculum focuses on what learners should know whereas in the standard-

based curriculum, emphasis is on what the learners should be able to do. 

•  There is rigid prescriptions of textbooks that are aligned to the various subject syllabi in the 

objective-based curriculum. On the other hand, the standard-based curriculum does not 

necessary conform to the strict adherence to the behavioural view of learning. 

•  In objective-based curriculum, learners are consumers of knowledge whereas in the 

standard-based curriculum, learners are creators of knowledge. 

The correct answer is: I, III, and IV only 

26. Considering the data set of 1, 5, 3, 7, 9, 13 and 11, which one of the following represents the 

mean? 

•  7 

•  11 

•  13 

•  15 

27. In the addition of three numbers, adding the first two numbers and then adding the last one 

gives the same results as adding the last two numbers and then adding the first one. This property 

of addition is called …. property. 
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•  commutative 

•  associative 

•  identity 

•  distributive 

The correct answer is: associative 

28. The length of a rectangle is 7cm less than thrice its width. If the area of the rectangle is 48 

cm^2, find the dimensions of the rectangle. 

•  l=9, w=16/3 

•  l=7, w=8/3 

•  l=3, w=4/3 

•  l=7, w=19/3 

29. One-third of a number exceeds one-eighth of the same number by five. The number is …. 

•  -24 

•  -95 

•  -120 

•  -196 

29. One-third of a number exceeds one-eighth of the same number by five. The number is …. 

•  -24 

•  -95 

•  -120 

•  -196 

31. A die in the shape of a cube has the numbers 1, 2, 3, 4, 5 and 6 on its faces, one on each face. If 

this die is a fair one and it is tossed twice, find the probability that the sum of the numbers that 

show up on the two tosses is more than 9. 

•  1/6 

•  5/6 

•  1/36 

•  5/36 

32. Which of the following measures of central tendency will always change if a single value in the 

data changes? 

•  Mean 

•  Median 
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•  Midrange 

•  Mode 

33. Basic 5 learners were asked to write an algebraic expression for the perimeter of the shape 

below. Identify the correct expression for the shape. 

 

•  6x + 18 

•  5x + 9 

•  4x + 11 

•  4x + 18 

34. Which of the following is not a characteristic of assessment as learning? 

•  It is formative 

•  It relates to engaging learners to reflect on the expectations of their learning. 

•  It helps in assisting learners to play their roles and to take responsibility for their own 

learning. 

•  It describes the level learners have attained in their learning. 

The correct answer is: IV only 

35. Lines are drawn to intersect three lines and the number of points of intersection counted and 

recorded. What would be the number of intersections for the 70th term? 

•  70 

•  140 

•  210 

•  280 

The correct answer is: 210 

36. Calculate the surface area of a cuboid with sides 2cm, 1.5cm and 2.5cm. 

•  7.25 cm^2 

•  7.5 cm^2 

•  10 cm^2 

•  23.5 cm^2 

. The correct answer is: 23.5 cm^2 

37. Basic 5 learners were asked to model a decimal number using one block, five flats, three longs 

and three cubes. Which of the following decimal numbers were modelled appropriately if the 

block represents a whole? 

•  1.533 
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•  153.3 

•  3.351 

•  335.1 

38. Kwaku is p years old, and Kwame is 5 years younger than Kwaku. How old is Kwame? 

•  5 + p 

•  p – 5 

•  5 – p 

•  p + 5 

The correct answer is: p – 5 

39. Which of the following is a teaching philosophy of the upper primary mathematics curriculum? 

•  Mathematics learning is an active process of constructing knowledge based on learners’ 

experiences. 

•  Learners are information constructors who operate as researchers and developers of critical 

thinking. 

•  Teachers serve as facilitators by providing the enabling environment that promotes the 

construction of learners’ own knowledge. 

•  Knowledge construction is relevant to the learner and leads to the development of critical 

thinkers and problem solvers. 

The correct answer is: Teachers serve as facilitators by providing the enabling environment that 

promotes the construction of learners’ own knowledge. 

40. A teacher in an upper primary class introduces a concept by asking the question, “Which 

container holds more?” having given them two containers to compare. Which concept is the 

teacher introducing? 

•  Area 

•  Capacity 

•  Perimeter 

•  Volume 

. The correct answer is: Capacity 

41. Which approach will be more suitable for John to use in separating mud from water? 

•  Decanting 

•  Evaporating 

•  Filtering 

•  Sieving 
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42. In flowering plants, which part of the flower is considered as the male part? 

•  Carpel 

•  Petal 

•  Receptacle 

•  Stamen 

The correct answer is: Stamen 

43. In order to restore degraded forests, the government is appealing to people to embark 

on………………. 

•  afforestation. 

•  crop rotation. 

•  deforestation. 

•  land rotation. 

44. Mansa asked her class teacher to explain the role of plants in the hydrological cycle. What will 

be an appropriate response from her teacher? Plants under ……. help the hydrological cycle. 

•  evaporation 

•  precipitation 

•  respiration 

•  transpiration 

The correct answer is: transpiration 

45. As a science teacher, which of the following strategies will you teach learners to conserve 

energy in their homes? They should … 

•  iron their clothes in bulk 

•  put on all their electrical gadgets 

•  put hot food in the fridge 

•  use old electrical gadgets that can last long 

46. Which of the following scientific processes is employed in both gari and salt production? 

•  Evaporation 

•  Fermentation 

•  Saponification 

•  Sublimation 

47. Nancy washed her hands with water but did not dry them with a towel. But after thirty 

minutes she realized her hands are dry. What phenomenon caused her hands to dry up? 
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•  Condensation 

•  Evaporation 

•  Filtration 

•  Precipitation 

. The correct answer is: Evaporation 

48. In teaching the solar system to his students, which of the planets is Mr. Danku likely to indicate 

as the hottest and the one with no moons? 

•  Earth 

•  Mars 

•  Mercury 

•  Saturn 

. The correct answer is: Mercury 

49. Mark was diagnosed of cholera so he could not go to school. Which of the following symptoms 

is Mark likely to exhibit? 

•  Fever 

•  Dehydration 

•  Headache 

•  Rashes 

The correct answer is: Dehydration 

50. In an experiment to demonstrate that air supports burning, a lighted candle placed in a glass 

jar and covered will be extinguished because the …………… 

•  carbon dioxide in the air got finished 

•  nitrogen in the air increased 

•  oxygen in the air got finished 

•  oxygen in the air increased 

The correct answer is: oxygen in the air got finished 

51. What will be an appropriate transformation of energy for a torchlight that has been switched 

on? 

•  Chemical to electrical to light 

•  Chemical to light to electrical 

•  Electrical to light to chemical 

•  Light to chemical to electrical 
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52. Peter does not like bathing so he mostly has dirt and sweat on his body. Which of the following 

diseases is he likely to develop? 

•  Chicken pox 

•  Cholera 

•  Eczema 

•  Meningitis 

The correct answer is: Eczema 

53. The doctor informed Kwame’s mother that Kwame is finding it difficult to receive and transfer 

oxygen through his bloodstream. Which of the following organs of Kwame may be defective? 

•  Liver 

•  Lung 

•  Kidney 

•  Skin 

The correct answer is: Lung 

54. Mawutor observed that most of the maize plants in the school farm have been uprooted after 

a strong wind. However, the mango tree is still standing firm. As her teacher, explain why the 

mango tree is still standing using the root system. The mango tree is still standing because it has… 

•  fibrous roots which grow deep into the soil. 

•  fibrous roots which grow just below the surface. 

•  taproots which grow deep into the soil. 

•  taproots which grow just below the surface. 

The correct answer is: taproots which grow deep into the soil. 

55. Auntie Aggie wants to buy an electric bulb for her room. What will be the appropriate reason 

for advising her NOT to buy an incandescent bulb? 

•  Appears very nice and beautiful 

•  Consumes a lot of electricity 

•  Gives off a lot of heat 

•  Lasts longer than bulbs 

. The correct answer is: Consumes a lot of electricity 

56. As a teacher in a village in which the source of drinking water contains germs, which of the 

following methods will you advice your learners to use to treat their water? 

•  Addition of alum 

•  Boiling 
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•  Evaporation 

•  Filtration 

The correct answer is: Boiling 

57. A bird gets food by feeding on ticks on a zebra which ultimately gets the ticks off the back of 

the zebra. What relationship exists between the bird and the zebra? 

•  Commensalism 

•  Mutualism 

•  Parasitism 

•  Predation 

. The correct answer is: Mutualism 

58. During a science experiment in Class 4, Atinga observed that while water and alcohol mix 

uniformly, water and oil do not. As his teacher, what explanation will you give as the reason why 

water and oil could not form a uniform mixture? Water and oil are… 

•  compatible. 

•  incompatible. 

•  miscible. 

•  immiscible. 

. The correct answer is: immiscible. 

59. In making an electrical circuit, which part of the circuit serves as the source of power? 

•  Battery 

•  Bulb 

•  Switch 

•  Wire 

60. In the hydrological cycle, water vapour changes to the original liquid through the process of…. 

•  condensation 

•  evaporation 

•  precipitation 

•  transpiration 

 

61. Kwaku’s deviant behaviour of accepting bribes is uncharacteristic of him. He however engages 

in such act whenever he needs money to solve urgent problems. Such deviance is mostly described 

as being at the ….. level. 

•  interpersonal 
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•  personal 

•  primary 

•  secondary 

The correct answer is: primary 

62. Mr. Jacobs died intestate but left behind a single house. By the Intestate Succession Law, Mr. 

Jacobs’ house should be given to his …. 

•  children 

•  children and wife 

•  extended family 

•  wives 

. The correct answer is: children and wife 

63. One major stereotyping Priscilla has been facing is that people have been telling her that 

married women should always be submissive to their husbands and do all they can to please them. 

What is the most likely consequence of this gender stereotype? Priscilla (‘s) …. 

•  will disconfirm the stereotype by behaving assertively. 

•  will fufil the stereotype by acting in a submissive way. 

•  will not change the way she thinks about marriage because of the stereotype. 

•  gender-related behaviour will not change because of the stereotype. 

. The correct answer is: will fufil the stereotype by acting in a submissive way. 

64. Kwaku lives in a house with Yaa, Kukuaa, Boaduwaa and their families together in the same 

house. They do many things like sharing of food and other items. One thing about Kwaku and 

these women is that they are not necessarily related to one another in terms of blood. This is the 

best type of ……………. 

•  co-habitation 

•  communal living 

•  household 

•  mutual living 

. The correct answer is: household 

65. Peter studies Economics in his first year in a university. His friends know him as a very keen and 

eager student who always wants to succeed in his university education. He always carries books 

with him and, every free minute, he reads his lecture notes. He loves to borrow books from the 

library that are meant for third year students. What is the best way to describe Peter? Peter has a 

high need for………………. 

•  affection 
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•  attention 

•  cognition 

•  stimulation 

The correct answer is: cognition 

66. Manu is seen as deviant by everyone in the community where he stays. As a result of this, 

Manu has accepted the deviant acts as his profession. Manu’s acceptance implies ……………… 

deviance. 

•  abnormal 

•  career 

•  normal 

•  primary 

The correct answer is: career 

67. Many countries all over the world are experiencing the impact of global warming because 

there has been ……………….. 

•  considerably lower sea levels 

•  drastic reduction in vegetation 

•  melting of polar ice caps 

•  more reflected sunlight in space 

. The correct answer is: melting of polar ice caps 

68. Jones, who is a citizen of France, got married to Adwoa, a citizen of Ghana. Jones applied and 

was granted Ghanaian citizenship by registration. However, their marriage was annulled three 

years later. Which of the following should Jones do in order to continue to remain a Ghanaian 

citizen? He……………………… 

•  should do nothing since he has not renounced his Ghanaian citizenship. 

•  should marry another Ghanaian in order to keep his Ghanaian citizenship. 

•  should reapply to be registered as a Ghanaian citizen after their marriage was annulled. 

•  should remarry a Ghanaian in order to maintain his Ghanaian citizenship status. 

69. The Interstate Succession Law of Ghana is not applicable to all situations because it does 

not……………………. 

•  cover any lineage property inherited by the deceased. 

•  cover any property jointly acquired during the marriage. 

•  give the surviving spouse equal access to the property. 

•  protect surviving spouse’s property rights. 
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70. Afrifa and Yaa had their engagement ceremony on 20th March 2023, after which the couple 

agreed to bring their respective step-children into their matrimonial home to form one family. 

What type of family is this? 

•  Blended family 

•  Nontraditional family 

•  Step family 

•  traditional family 

71. One unique feature about the energy pyramid in every ecosystem is that the primary producers 

and the primary consumers outnumber the secondary consumers. The implication is that if this 

does not happen the …… 

•  energy cycle in the ecosystem cannot be completed. 

•  organisms in the ecosystem will not be able to survive. 

•  secondary consumers cannot reproduce themselves. 

•  secondary consumers will not be able to survive. 

The correct answer is: secondary consumers will not be able to survive. 

72. Democracy in most developed countries requires that the powers of law making, interpretation 

of the laws as well as the implementation of the laws and policies are given to parliament, 

judiciary and the executive respectively. These countries adhere to the principle of ……. 

•  balance of power 

•  good governance 

•  rule of law 

•  separation of power 

The correct answer is: separation of power 

73. In every physical environment, individual organisms of different species interact with one 

another. This interaction best describes ………………………effect. 

•  cross-specific 

•  di-specific 

•  interspecific 

•  intraspecific 

. The correct answer is: interspecific 

74. Which of the following approaches to the teaching of citizenship education teaches learners to 

obey and respect authorities that govern them? 

•  Academic discipline 

•  Critical thinking 
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•  Exemplary approach 

•  Institutional school reform 

The correct answer is: Institutional school reform 

75. The concept of self is truly described by all the following except………… 

•  how a person can change his/her weaknesses. 

•  a clear description of oneself in an essay writing. 

•  how individuals can develop himself/herself. 

•  the individual in the light of his/her potentials. 

The correct answer is: a clear description of oneself in an essay writing. 

76. Which of the following instructional strategies cannot be classified as a play-based approach to 

teaching primary school learners? 

•  Lecture 

•  Modelling 

•  Role play 

•  Storytelling 

77. According to Piaget, the child in the sensory motor stage primarily explores the world with 

…………………..rather than through mental operations. 

•  communication 

•  the senses 

•  behaviour 

•  attitude 

The correct answer is: the senses 

78. I am a teaching strategy. I give students the opportunity to assume the role of a person or act 

out a given situation. These roles can be performed by individual learners, in pairs, or in groups 

which can play out a more complex scenario. Who am I? 

•  Role Play 

•  Play 

•  Simulation 

•  Modeling 

79. Auntie Korkor is a multi-grade teacher in one of the villages at Buipe. She claims that multi-

grade teaching is exciting and energy sapping at the same time. When asked to tell some of the 

specific things that define a multi-grade classroom, she said that classrooms of that kind have all 

the following except……………………. 
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•  learning is controlled by the learners. 

•  same classroom for different grade levels. 

•  seating arrangement may vary from time to time. 

•  teaching is mostly done by one teacher. 

80. I am the occurrence of a conditioned response to a stimulus that is similar and identical to the 

original conditioned stimulus. Which of the following best fits the above description? 

•  Higher order conditioning 

•  Spontaneous generalization 

•  Stimulus discrimination 

•  Stimulus generalization 

The correct answer is: Stimulus generalization 

 

81. In Mr. Adu’s class, he establishes norms for classroom behaviour and then enforces them in a 

consistent fashion. He insists that classroom behaviour is based on principles - rather than 

inflexible rules - of three basic types: (1) respect for the teacher (2) respect for the rights of others 

based on their need for education, safety, ownership and civil rights and (3) respect for the school 

and its property. Mr. Adu’s principle can most appropriately be described as …………… 

•  fair 

•  firm 

•  focused 

•  friendly 

The correct answer is: firm 

82. Kohlberg’s theory proposes that there are three levels of moral development with each level 

split into two stages. Which of the following is not among the levels? 

•  Convertional 

•  Pre-intentional 

•  Post-concertional 

•  Pre-convertional 

. The correct answer is: Pre-intentional 

83. Educationists warn teachers to desist from practices that are likely to sway learners’ interests 

and aspirations. They recommend that teachers adopt all the following practices except ……… if 

only they wish to promote lifelong learning across diverse groups of learners. 

•  behaviour management 

•  cut rapport building 
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•  differentiated instruction 

•  provision of emotion support 

. The correct answer is: cut rapport building 

84. Which of the following best describes philosophy of education? I. Philosophy of education is 

the criticism of the general theory of education. II. It consists of critical evaluation and systematic 

reflection upon general theories. III. It is a synthesis of educational facts with educational values. 

•  I and II only 

•  I and III only 

•  I, II and III 

•  II only 

The correct answer is: I, II and III 

85. Which among the following can be considered as the importance of modeling as a teaching 

strategy? I. It enables the students to engage in cognitive and social tasks. II. It helps students to 

acquire information, ideas, skills and values. III. It trains the student on how to be smart. 

•  I and II only 

•  I and IV only 

•  I, II and III 

•  II and IV only 

86. Good teachers can also be seen as those who present a classroom environment where all 

learners develop the feeling that their views, contributions and perspectives are equally valued 

and respected. In short, we can perceive of good teachers as people who ensure………… 

•  activity-oriented classrooms 

•  developmentally appropriate classrooms 

•  diversity in the classrooms 

•  inclusivity in the classrooms 

. The correct answer is: inclusivity in the classrooms 

87. Madam Amina, a Class 5 teacher, views diversity as an approach to building a learning 

community that is inclusive of varying identities and abilities so that individual differences are 

recognised within the school environment. Which of the following represents the view of Madam 

Amina? 

•  Diverse learning needs 

•  Diversity in ability 

•  Diversity in assessment 

•  Diversity in reward 
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88. Mr. Agyenim prefers experimental and experiential learning to any other form of learning. He 

argues that learners learn best when teachers link concepts to everyday experiences and allow 

learners to freely try out what they learn. Which educational philosophy can be identified in this 

situation? 

•  Essentialism 

•  Existentialism 

•  Idealism 

•  Pragmatism 

. The correct answer is: Pragmatism 

89. Kofi maintains order and discipline among learners with the objective of creating a conducive 

teaching and learning environment bearing in mind his own behaviour. What does Kofi seek to 

achieve? 

•  Classroom Control 

•  Classroom Control and Discipline 

•  Classroom Discipline 

•  School and Classroom Discipline 

The correct answer is: Classroom Control and Discipline 

90. In the primary school curriculum, traditional subjects which are selected for learners to study 

are deemed very important to the development of the child and the society. This assumption is 

deeply rooted in one of the following ideologies: 

•  Essentialism 

•  Existentialism 

•  Idealism 

•  Pragmatism 

 

91. The PowerPoint view that displays only text (title and bullets) is referred to as ……………… 

•  notes page view 

•  outline view 

•  slide show 

•  slide sorter 

. The correct answer is: outline view 

92. Which of the following is a negative effect of listening to loud sounds from a radio? 

•  Brain damage 
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•  Joint pains 

•  Lower backpain 

•  Weakened eardrums 

. The correct answer is: Weakened eardrums 

93. Kofi adds a video file to his social networking page. Which of these describes the video which 

has been watched by a lot of people over a short period of time? 

•  Digital 

•  Open source 

•  Tagged 

•  Viral 

. The correct answer is: Viral 

94. Which of the following programmes or softwares has the attributes listed below: I. It is able to 

spread copies of itself to other computers. II. Copies of itself are independently fully functional. III. 

My copies can effectively communicate with me to perform functions. 

•  Spyware 

•  Trojan horse 

•  Virus 

•  Worms 

The correct answer is: Worms 

95. In a computing class in Basic 5, you explained a concept as getting the text positioned as you 

want. Which text feature were you referring to? 

•  Alignment of a text 

•  Changing the colour of a text 

•  Changing the font size of the text 

•  Underlining a text 

96. Which pencil is the darkest with the softest lead and makes the darkest mark on paper? 

•  2H 

•  4B 

•  6B 

•  B 

The correct answer is: 6B 

97. Which of the following is not performed during music and cultural festivals? 
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•  Choral music 

•  Dance drama 

•  Poetry recital 

•  Theatrical performance 

The correct answer is: Theatrical performance 

98. I am a song; I am usually sung by a narrator or audience during story telling time. I am usually 

sung to sustain the interest of the listeners. Who am I? 

•  Chorus 

•  Interlude 

•  Prelude 

•  Postlude 

The correct answer is: Interlude 

99. Which of the following is an empty place or surface in or around a work of art? It can be two-

dimensional, three-dimensional, negative and/or positive. 

•  Color 

•  Shape 

•  Space 

•  Value 

. The correct answer is: Space 

100. Contemporary installation, performance, and multimedia artists often produce work that 

encourages or requires the active participation of its viewers, whose input can even shape the 

work. Which of the following statements best accounts for this development in contemporary art? 

•  Fewer and fewer artists consider their role to be to broaden an audience's outlook or 

understanding. 

•  Viewers are increasingly being recognized as highly educated critics rather than mere 

observers. 

•  The relationship between artist and audience is changing as new roles and media are 

being explored. 

•  More and more members of the viewing public consider themselves to be artists in their 

own right. 

The correct answer is: More and more members of the viewing public consider themselves to be 

artists in their own right. 
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